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=) UPCOMING ONLINE BATCHES

02 NOV 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

02 NOV 2022

06:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

November 2022

09 NOV 2022 16 NOV 2022 23 NOV 2022

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL BILINGUAL

23 NOV 2022

04:00 PM to 06:00 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

30 NOV 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

& www.mahendras.org e  7052477777/7052577777



Direction: Given bar graph show the profit percentage of three different product A, B, and C (=Y

for four different years.
el fTU 910 g UTh IR 3TS9T-379T Iul o ToIT didd 3Te9T-3Tel9T 3cUle A, B 3T C T

oy ufaera fewmra B

Profit Percentage

38%




What will be the cost price of B 1n 2018 if the selling price 1s 5047
afe forsha 4 504 2 A 2018 H B ST 3H3 He &RIT BT

Profit Percentage

38%

25% 25% Q e % 1 275
15% 17%16% 8% 2.400
12%
3.300
4.375
5.NOT




If the difference between the profit of A in 2014 and B 1in 2012 1s 540 then what will be
the cost price of A 1n 2014. If the selling price of B in 2012 1s 1000?

afG 2014 W A ST 2012 H B o AT o STl sh1 3 540 € AT 2014 W A o1 367 Hd T &2 (< 2012 H B
1 forshal 72 1000 82

Profit Percentage

38%

2% 25% 1.2960

15% 17%16% 157% 2.2896
12%

3.8523

4.2586

5. NOT




The average profit of C in all given year 1s 1400 then what will be the selling price of C
in 2014 1f the cost price of all year 1s the same? (approx.)

fow Q@ T | C 7 37T AT 1400 B, 1 2014 H C 1 foisha o 1 g1 aife |t o <61 369 Ao
U 87 (TTH)

Profit Percentage

38%

R B Saall 1.7861

15% 17%16% 157% 2.8661
12%

3.2211

4.2551

5.4354




What will be the profit/loss % of C 1n 2018 at cost price 1f cost price decrease by 10%
and due to demand profit% on the old cost price 1s increased by 50%?

Te AT T | 10% T FHHT BIT & ST AT o6 H0T T ARG Hed T AT H 50% 1 Jig Bt &, al
2018 H AT Hed T C hl ATH/ETH % T BRI

Profit Percentage

38%

25% 25% Q 1 53%
. 17%160, 18%
15% .. 16% 2.22%
3.43%
4.33%
5.47.75%




If the cost price of A 1n 2012 1s 50% of the cost price of C in 2016 then what is the cost pri
of A 1n 2012 1f the difference between the selling price of C in 2016 to A 1in 2012 1s 5677

aﬁzolzﬁA T 563 0o 2016 W C o 6 Hd T 50% &, A1 2012 H A 31 568 Hod AT 1< 2016 H C
CERRIE 2012 T A ¥ s g ¥ S T 3T 567 29

Profit Percentage

38%

25% 25% 1.220

15% 17%16% 157% 2.420
12%

3.320

4.520

5.NOT




Given below is the table which shows the different types of work P, Q, R, Sand T,
ratio of efficiency to do this work as a man, a woman and a child respectively and
total time taken by a child to complete this different works.

A &1 a1 drfersr # faffied UbR & @R P, Q, R, S 3T T, HAA: Teh Y, Teh HAfgell

3R Th I & T H 3H BRI Bl P DI G&IAT Pl HJUd IR SH 3cT97-3el9T Bl
Bl QT P H Teh I gRI TolT -1 o FHI SATAT IAT &

Ratio of Time taken by child to
Work ..
efficiency complete work
P 5:3:4 20 days
Q 4:3:2 10 days
R 8:7:6 21 days
S 3:2:1 15 days
T 6:4:3 16 days




Time taken to complete the work P by 3 men, 2 women and 1 children together is what percent
more or less than the time taken by 1 man, 3 women and 2 children together to complete work S ?

3 %I, 2 HigeTrel S 1 Sl R R P 3l I 3 H {oTd1 7191 9/, | I3, 3 HigeTsdl 37 2 sl g U
T T S ! G A H Q¢ w0 § fora sifcrera 31feres am s 82

o | et 1.400/3%
P 5:3:4 20 days ;igg;i;’
Q 4:3:2 10 days . 0
R 8:7:6 PANCENS 4, 100/3%
s 3:2:1 15 days 5.100/6%
T 6:4:3 16 days




If a man, woman and a child work alternatively starting from child on day 1, man on day 2 and .
woman on day 3 then, in how many days will the complete work T working alternatively?

aﬁ@%ﬁr iR SR Teh sToell Jehicdeh &9 U Teet o sreel ¥, gat fa ge I e fo wiget & &
A &, I T Sehicdeh & & ShH L et I hH i fohe ﬁ?ﬁﬁwm‘?

Ratio of | Time taken by child
Work . .
efficiency | to complete work . 439
P 5:3:4 20 days 1.8 aays
Q 4:3:2 10 days 2.6cays
R 8:7:6 21 days 3.9 days
S 3:2:1 15 days 4 11 days




What 1s the ratio of time taken by a man and a woman to complete work R together to the time
taken by 3 women and a child to complete work T together?

Teh T%9 N Ueh Higell T R R i Teh 91 T L H oI T @7 37X 3 ATl TR Th siel g1
T 1 Ueh ©T QU A H [T T §H ShT AT 1 82

Ratio of | Time taken by child
Work . .

efficiency | to complete work 2@ 439
p 5:3:4 20 days 1.20:13
Q 4:3:2 10 days 2.21: 8
R 8:7:6 PANCEINS 3.17: 18
S 3:2:1 15 days 4 12 11
T 6:4:3 16 days 513:9




Time taken by a woman to complete work R 1s what percent more or less than the time taken
by man to complete work S?

Teh AT SR R 31 O ki H 7T 711 SH, %13 S shl U ohi H T8 SR 7T 7T §9 ¥ fohel Tfererd
371 AT R 22

Ratio of | Time taken by child

Work efficiency | to complete work
1.180%

P 5:3:4 20 days o

0] 4:3:2 10 days 2.140%
R 8:7:6 21 days 3.220%
S 3:2:1 15 days 4.240%
T 6:4:3 16 days 5.260%




Working together if they get 4500rs 1n total for completing work Q and 1800rs for completing
work S, then share received by man in complete work Q 1s what percent more as less than that
received by man in completing work S?

RIGCEIRNOEIRNETT CATIY Pl 45006@343?%%4 S oI U L o To mgﬁlSOO FqY ITH Ll 8, 1 I
R Q § H T WTH fEE8iaTl hrd S ol QU ot | 0T 57 ST ey foha fcraTd A 27

Ratio of | Time taken by child
Work . . b S L

efficiency | to complete work 2@ 439
p 5:3:4 20 days 1.98 2/9%
0] 4:3:2 10 days 2.122 2/9%
R 8:7:6 PANCENS 3.110 2/9%
S 3:2:1 15 days 4. 115 2/9%
T 6:4:3 16 days 5 125 2/9%




24, 47, 45, 91, 90,

179

1.91
2.47
3.179
4.90
5.45




65, 34,

103,

128,

176,

180

1.180
2.128
3.84

4.105
5.176




2, 9, 34, 99,

184,

189

1.9
2.34
3.99
4.184
5.189




6x° -25x +25=0

vy -Ty+12=0

1.x>y
2.X2YV
3.X<y
4.xX<y
5.CND or

X=Yy



X2 -4x -45=()

y2+2y-15=0

1.x>y
2.X2YV
3.X<y
4.xX<y
5.CND or

X=Yy



11x2 +18x+7=0

y2-3y+2=0

1.x>y
2.X2YV
3.X<y
4.x<y
5.CND or

X=Yy



x2—-3x—-10=0

y2 — 18y +45=0

1.x>y
2.X2YV
3.X<y
4.x<y
5.CND or

X=Yy







































In a survey 3000 persons in a city, it was found that
each person is playing from at least one of the three
games i.e. cricket, football and hockey. Number of
person who are playing cricket only are 25 % more
than the number of person who playing football only.
Number of person who are playing hockey only are
120% of the number of person who are playing cricket
only cricket. Number of person who are playing all the
sports are 1/3' of the number of person who are
playing cricket only. Number of person who are playing
both cricket and football ( but not hockey ) are 20
more than the number of person who are playing all
three sports and 190 more than the number of person
who are playing both cricket and hockey ( but not
football ). 400 people are playing both football and
hockey.
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In a survey 3000 persons in a city, it was found
that each person is playing from at least one
of the three games i.e. cricket, football and
hockey. Number of person who are playing
cricket only are 25 % more than the number of
person who playing football only. Number of
person who are playing hockey only are 120%
of the number of person who are playing
cricket only cricket. Number of person who
are playing all the sports are 1/3" of the
number of person who are playing cricket
only. Number of person who are playing both
cricket and football ( but not hockey ) are 20
more than the number of person who are
playing all three sports and 190 more than the
number of person who are playing both
cricket and hockey ( but not football ). 400
people are playing both football and hockey.




Find the difference between who are playing only hockey to the
number of people who are pIaylg_'_gT only cricket ?

el TPl Weldd dTel cgfehdl mﬁ<mq«ﬁﬁw—d@ﬂﬁr
dTel T ThaT qE &b T PT ITR T HITaTa?

A.30
' B.40
C.90
~ D.60
- E.NOT




Find the ratio between the number of people who are playing cricket
and hockey to the number of person who are playing hockey and

football ? - o | _ '

fohdhe 3R T Wela arer pAl &y & 3 & 3R

cdiel Weld dTel <Ifthdl hT HEIT & &I &I HdTd <Td

e
ch ?

1.12:5:
2.13:10
3.7:27
4.2:11

- 5.NOT




Find the sum of people who are playing only cricketand only -
football ? Ml t e T
chaol fshehe 3R ol Hediel Weld dlel <IThAT T IT

A.1350
B.1270
C.1330
- D.1400
E.NOT




Find the difference between the number of people who are pIaylng >
only cricket and only hocke |

cthdel fehdhe 3R dhdel slqyﬁ e AT oq?‘f—l’r h! &l c)v =T
BT AT AATd HifoId? | _ Lty

A.120
B.150
C.130

D.140
E.NOT




Find the people who are playing only football and hockey are what

gercent of the people who are playlng only crlcket and football ?
chcm cdidl Blh Wold dTel Ifhdl I GGGl cri?r‘el?r 3 Sﬁ
3ﬂ< ':,hcqloi ol g &7

A20 -
B.40 -
C.50
D.67
E.NOT




The bar graph represents the number of items (in lakh) sold by the companies A, B, C, and D.
IR A% HUfAAT A, B, 3R DERT I I a¥g3i & &A1 (@ H) &l geMdr §

The following table represents the ratio of making cost to selling cost of an item of different
companies and percentage of defected items sold by different companies.

fAFateiad drferer fafea Hufaal Hr fhdr avg & I aerd 3R Affea sufaan
gRT o=l 91 QIuqul a&g3il & UfARrd & oINTd & 3HJUTd &l STl & |

Number of Items Sold

5
4.5 Ratio of
4 making | Percentage of
3.5 Company costto | defected item
3 selling cost sold
25 in (Rs.)
p) A 3:5 12%
1.5 B 4:5 16%
. C 8:9 10%
0.5
0 D 10:11 9%

Company A CompanyB CompanyC CompanyD



If the selling price of the one item sold by company D 1s Rs.110. And the company had P
to return 40% of the selling price to the customers who had the defected items, then what

i1s the net profit percentage made by the company D? ‘ ‘
aﬁam?ﬁoma—uﬁrrgum aEg &1 TIhd Hed 110 TUY Tl 3 Ul Pl 3 AT

P fIFT HeT P 40% AUH BT AT TS o grugel axqu off, ar Fuer D gRT
Hiod Y€ oA UfdRrd T &2

Number of Items Sold

1.5%
2.3.5%
Company | CP:SP | defected item % | | 3. 5.8%
AL Lo 4.3.96%
e % 5.4.98%

B
C 8:9 10%
D 10:11 9%




What 1s the ratio of the total defected to non-defected items sold by all the companies? P

Hﬁ?ﬂﬁﬁmﬁﬁwmmﬁ?m-mmaﬁsﬁw 3T
HT o7

Number of Items Sold

Company | CP:SP defected item % S 3.327:2573
A 3:5 12% 4.321:2573
B 4:5 16% 5.329:2573
C 8:9 10%
D 10:11 9%




If the sales of company B increase by 20% then what will be the difference between the
number of non-defective items sold by company B before and afterwards?

Ife, hUT BT TIsht 3 20% Fr gig & &, O HUAT BGRT Ugel 3R ai¢ A
d<t 915 IN-NYUT TEG3T P HEIT & I P HA FT SM?

Number of Items Sold

=\ 1.40000
o =2 L) 2.41000
Company | CP:SP defected item % R e 3.42000
A | 3s 12% 4. 42500
8| 45 16% 5. 45000

C 8:9 10%

D 10:11 9%




What 1s the profit made by the company D if the making cost of one unit of an item

1s Rs 1507
e fhdl T€g &1 Teh ehre &I [AAT W9Td 150 FUT &, A hUAT D gRI
Tord oI AT &2

Number of Items Sold

C § 1. Rs. 6550000
- 2. Rs. 6750000

Company | CP:SP defected item % 3. Rs. 6700000
A 3:5 12% 4. Rs. 6850000
4:5 16% 5. Rs. 6950000

B
C 8:9 10%
D 10:11 9%




What 1s the total number of non-defected items sold by all the companies?
AT HUTAAT gRT I 918 IN-GIV arell TEIHT HT Pol TE&AT FAT &7

Number of Items Sold

Company | CP:SP defected item %
A 3:5 12%
B 4:5 16%
C 8:9 10%
D 10:11 9%

1.1286500
2.1284500
3.1285500
4.1282500
5.1287500




